

Welcome to Narpavi Bazzar Plan 2025

Dream Income



INCOME PLAN DETAILS

Joining Plan Rs.700

Unlimited DIRECT Referral Income









Global AUTO FIL Income





6 Level Unlimited Income Details

B A Z Z A R R	LEVEL	10 Direct Referral	Referal & Level Income	Level Income
E F	Level 1	10	200	2000
E R	Level 2	100	50	5000
R A Rs.200	Level 3	1000	30	30000
L	Level 4	10000	10	100000
I N	Level 5	100000	5	50000
C 0	Level 6	100000	5	500000
M E	UNLIMITED LEVEL INCOME			5637000

GLOBAL AUTOFILL INCOME DETAILS

LEVEL	GLOBAL AUTOFILL	Level Income
Level 1	5 * 100	500
Level 2	25 * 100	2500
Level 3	125 * 100	12500
Level 4	625 * 100	62500
Level 5	3125 * 100	312500
Level 6	15625 * 100	1562500
Total AUTO-FILL INCO	1953000	

*One direct referral is must for Auto-fill income





- **GOVERNMENT APPROVED TRUSTED COMPANY TRUSTABLE & QUALITY PRODUCTS UNLIMITED REFERRAL INCOME LEVEL INCOME UPTO 6 LEVEL GLOBAL AUTOFILL NON WORKING INCOME**
 - **PAYMENT WILL BE CREDITED 24 HOURS**
- **CUSTOMER CARE SUPPORT**





GOVERNMENT OF INDIA MINISTRY OF CORPORATE AFFAIRS

Central Registration Centre

Certificate of Incorporation

[Pursuant to sub-section (2) of section 7 and sub-section (1) of section 8 of the Companies Act, 2013 (18 of 2013) and rule 18 of the Companies (Incorporation) Rules, 2014]

ntify that NARPAVI JEYAM (OPC) PRIVATE LIMITED is incorporated on this FIRST day of OCTOBER TWO D TWENTY FOUR under the Companies Act, 2013 (18 of 2013) and that the company is Company limited by

The Corporate Identity Number of the company is U47912TN2024OPC173772

The Permanent Account Number (PAN) of the company is AAJCN9043N

The Tax Deduction and Collection Account Number (TAN) of the company is CHEN15737B*

Given under my hand at Manesar this FIRST day of OCTOBER TWO THOUSAND TWENTY FOUR

Signature Not Verified

CORPORATE MANESAR Date: 2024 10 01 13:31:28 IST

Sanieev Kumar Jair

Assistant Registrar of Companies/ Deputy Registrar of Companies/ Registrar of Compan

For and on behalf of the Jurisdictional Registrar of Companie

Registrar of Companie

Central Registration Centre

1

Disclaimer: This certificate only evidences incorporation of the company on the basis of documents and declarations of the applicant(s). This certificate is neither a license nor permission to conduct business or solicit deposits or funds from public. Permission of sector regulator is necessary wherever required. Registration status and other details of the company can be verified on mca.dov.in

Mailing Address as per record available in Registrar of Companies office

NARPAVI JEYAM (OPC) PRIVATE LIMITED

77-2 B, M H Road, Perambur, Perambur Purasawalkam, Chennai- 600011, Tamil Nadu

*as issued by Income tax Department

REALIZED TERMS & CONDITIONS

- it is important to know the scheme thoroughly before you register.
 - Participants, before joining the new people we must give a complete explanation about our program.
- Only one mobile number should be used for one registration. Participants understand that contributions made are voluntary and nonrefundable.
- Participants agree to comply with all relevant laws and regulations governing financial transactions in their jurisdiction.
- \checkmark
- Participants understand that contributions made do not guarantee any financial returns or benefits.



Participants' personal information wil be treated confidentially and will not be shared with third parties without explicit consent, except as required by law.

Participants agree to engage respectfully and ethically with other participants. Any form of harassment, fraud, or misconduct will result in immediate termination from the program.

Participants engage at their own discretion and assume all associated risks. Participants must be of legal age and capable of entering into legally binding

agreements in their jurisdiction.



The program administrators reserve the right to modify the terms and conditions at any time. Participants will be notified of any changes, and continued participation implies acceptance of the revised terms.

Products are not eligible for return, exchange or refund.

Exchange is available solely for damaged products. No exchanges will be accepted for reasons other than product damage.

To process a exchange, customers must provide a clear unboxing video as proof of damage. Exchange requests will be subject to review and approval by our team. For any queries, please contact Customer support.

Admin charge 5% & Tax 5% will be calculated.

